
 
13'-9 11/16"
165 11/16"  

 
6'-10 13/16"
82 13/16"  

 
6'

-1
0 

13
/1

6"
82

 1
3/

16
"

 
Protective surfacing

For depth 
excavation see 

detail A

 12" 
 20" 

Level of finished ground

Protective surfacing

Plan view of the product:

1 877 363-2687
info@jambette.com

04/12/2019
M.E.O.

L-09002

ASSEMBLY PLAN
Xyrä-40

CSA



1

2

6

3

4

5

Item Description Qty. Number
1 Rotating seat & anchorage (33-1/4) 1 *13339
2 23-3/4 * 23-3/4 plastic stringer 1 *34102
3 3/8*2 HDG Carr. Bolt 4 40475
4 7/16 Flat washer 4 42435
5 3/8 HDG Spring Lock Washer 4 42565
6 3/8 HDG Hex Nut 4 42730

1 877 363-2687
info@jambette.com

04/12/2019
M.E.O.

L-09002

ASSEMBLY PLAN
Xyrä-40

CSA


	Feuille3
	Vue de mise en plan5
	Vue de mise en plan7
	Vue de mise en plan8

	Feuille1
	Vue de mise en plan1
	Vue de détail C (1 : 6)


